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We force his master — 129 DR P52

OVERVIEW

The w"2 rule that we force the master of a P77 32 °XM 72V °¥n to free the 72V, in
order to allow him to be 0>pn the mx» of 1"™®, which he cannot be 0P now since
he cannot marry either a 79w or a P91 n2.' Our Moo discusses various options
where possibly the 171 32 *xm 72¥ °¥n would be able to be 7" a»pn.

nooIn asks:
— WP 1919 RYT AVYN XY NNT 129) 9999 NYUY 255D 19999 ININ 9NN ON)

And if you will say; why force the master to free him? The 7wy mx» of 2"

should come and push aside the n'% nxn of WP 797> XY, and the 72y [*¥n] should be
permitted to marry a Y12 n2,” and be 7" myn o»pn!

mooIn answers that N M7 7wy does not apply here:
—*nuy 0719 XY IND 9PYINT NITIYAT RTN PN 12929 99IN)

And the >''1 answers that we cannot apply here the rule of n"77v; first because at

the time when he transgresses the prohibition, he is not fulfilling the 7wy -
— ANY2 902 1Y DDA RY 1299 1997 AU INYY 1Py XD “ANIYN nywnT

Since the 8 is transgressed from the moment of ;18=¥;7, however he does not
fulfill the 7wy until the 7X%2 is completed.

mooin offers an alternate explanation why n"27¥ does not apply here:
— Shwy N9 A1 22357 515 XUDY NION NODT N

And in addition (we cannot permit him to marry a n°>X ), for she is forbidden

" The T 12 V¥ 72V °X1 cannot marry a anow because the 2w 177 12 7% (which makes him a [partial] 9% w”) forbids
him to marry a now, and the 2w m7ay 7% forbids him to marry a n°?& W since the 7710 states (in 12,33 [Xx¥n] 0°127)
that DXW° 12 WP 70 K PR AR AwIR PN R?, meaning that a PRI N2 may not be My nian (thereby
forbidding her from marrying a 72y [*¥n]), and a PR [*¥1] may not nr? 3, thereby forbidding him to marry a
nnow, for in both cases there is no 10910 PYITP when marrying an 72 or a indw, so their marriage is considered nr.
2 npoIn cannot mean that he should marry a 1row, for then he will still not be o»pn the mxn of 71"», since the
children are considered hers and not his. See previous Xw°? "7 'o1n. See w"w1 why '0In does not cite the 1X? of X7
SR nan awTp an (if we are discussing a 117 n2). See however 0"nn and R3-nn MR 7"210.

? We say n">7v only if at the same time that he transgresses the n'™ he is o»pn the wy; however if the 7wy orp
precedes (or follows) the n"?, then the rule of n"97y does not apply, since he is transgressing a n"? without being
o»pn then an wy. See “Thinking it over’ # 1.

* There are different views as to the exact meaning of X (see 2,71 M»2*); in any event it precedes 7x°2 3. The
m%n of 1" 1 cannot be fulfilled unless there is 7%°2 3. Therefore 77y does not apply here.

> She will transgress the W% of 7w7p 770 X2 by marrying the 72y [*¢r1]. See footnote # 1.

® See previous x1w 77 '0n (TIE footnote # 5) that a woman is not obligated in 7™b.
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to him, and regarding her there is no 7wy MXn of 1"o. She therefore cannot marry
him —

mooin offers an additional explanation why n"27¥ does not apply here:
— 5anNa 1Y YWONT 'NTPON 199N 1IN

And furthermore even if she is commanded [for ='1®], nevertheless it is
possible for her to fulfill this m1¥» with someone else; therefore there is no n">7v.

mooin offers one final explanation why n'"77v does not apply here:
—7sn Y 11999 915 Yy DIV 0PY 9YIANT 1193 I

And also, since it is possible to fulfill both (the 7wy and the n"%) through
coercing the master, therefore the 7wy is not 51mM7 the n">.

In summation, the >"1 gave four reasons why the 72y cannot marry a “X° na on account of
n"oTy:

1. They are not simultaneous; 2. There is no 7wy for the woman; 3. She can observe 1" with
another; 4. We can avoid it by forcing the master to free him.

nooIN asks:
— (Bw) 3,nY 91 po*) NIIYN 7992 199K XM 9NYY 19292 Y390 9NN ON)

And if you will say; how can we force the master to free him, for "X 7717 27

SRINW states in AT PO -
— Pnyya 9299 172y 99nwUnn Y1

That whoever emancipates his slave transgresses a 7wy nixn —

mooIn anticipates (and rejects) a possible solution:
— NV MNN NN )

And if you will say that for a mx» it is different, and one may free his slave for a mxn
(as the case is here, where he is freeing his slave to enable him to be 7" 0pn) —

" The n"an1 mma amends this to read, 7> TWOK 1371 11K X729n. This is referring to the view of Xp172 72 1371 " who
maintains that woman are commanded on 1"5.

¥ The rule of "7y is only if there is no other way to be o»pn the 7wy unless the n"% is violated; however if one can
be 0»pn the nwy without transgressing the n"?, we do not rule n"27v. Here too she can be 1" 0»pn with another
5% without violating any X?>.

° Even though the 72y (on his own) cannot be o>pn the 7wy unless we are M7 the n"?, nonetheless since we (the
7"2) can coerce the NN7X to free the slave and thereby see that the 72¥ is [both] a»pn the 7wy and does not transgress
the n"9, we take this option and do not apply n"?7¥ in this case. See ‘Thinking it over’ # 2.

0 The P09 states (W,75 [172] RIP7) regarding 0°115 ©°72Y that 172N 072 02w9. You must make them work for you
forever; by freeing the slave the owner transgresses this ¥"n.
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mooIn rejects this answer:
— (3 Ynnn M1 oW R,T9T NAY YWD 13990NRTI 79230 NITIY 17D NLVN DTINY I DIININ D)

But do we then say to a person; ‘sin — in order to benefit your friend’; we do

not say that as the X773 states in the beginning of naw n>on. How can we coerce the
master to sin (freeing his slave) in order that the slave shall benefit?!"'

mdoIN anticipates a difficulty:
— %5 By N NYY NN N2V D3NV (b posy NTIYN 17AY ITYIN 229 99NYT XM

And regarding that which X' freed his slave, as recounted in n9w; P19, that

X'"7 entered the 2157792 and did not find there ten people, so he freed his slave to
make a 11n (how was he permitted to do so) —

mooin replies:
— 13199 DYYYNY T2 NIYN NYY N9 INYIN 297 DIVN NN

There it was permitted because X''9 himself did a /7%» in that he completed a

! This enabled X"1 to daven with a 1; it was for his benefit. However, here the 117X is
transgressing the nwy solely for the 72¥, which is 72 721w 22w2 Kun.

mooIn anticipates a challenge to the rule of "1 OTX? D™MAX o1
- 13(:4&1 nNHA M7 Y 3,25 97 P2y 17299 D92 P93 13 9INT NI

And also regarding that which was stated in 7297 %22 p=5 -
— 1129 NN NIND DY 729 XD N0 NNOIN Ta9nY 1315 799 XHYT

That it is agreeable for the 921 to transgress a slight prohibition 71277 (to be

aPIT 1A XYW wyn) so that the 1"y should not transgress a major prohibition
XN IRTA (the eating of 720 where there is a 0°nw >7°2 an 210). It seems from there that we do
say Xor (to the 72m) 771720 721w >72 (the 7"Y)!

mooIn responds:
— DAV MY DYANM NPT 93N YW 11 HY NN NIND DY 192y NPT DIVN 0NN

There it is different, because the 7"'¥ is transgressing the T19°X on account of

the =2n, for the 12n is feeding him ®2®; in such a case we say "1 »awa xvn, however
generally we do not say 121 2*2w3a Xvn. The question remains, why is it that we force the 117X to be

" Even if we will say that for a m¥» one may free his slave, but that is only if it enables the master to do a M3, but
not if someone else can be 0>°pn a Mxn (see further in MdOIN).

12 Seemingly this is a case of 7"72m 719rw 72 Xv; he freed the slave so the people should have a 1.

" The case there is where a 7an allowed an 7"y to pick (for himself) a certain amount of figs from his tree.
According to "27, the figs need not to be tithed, because the 1217 certainly tithed them (after the 7"y picked them). We
make this assumption despite the ruling that it is forbidden (73277%) to be a7 12 ROW Wwyn (if the 92w is not before
you); the reason is as M0 (and the X3 there) state.
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X0 by being 7nwn the 72y in order that the 72¥ should be 71217 in 1"5?!

Mo0IN answers:
— AYPA 92197 23 DY N 29Y N2 MINN DIVNT PHYS 1339 9IIN)

And the "' answers; that for a ;77129 mx» (like the naw of 7"d) it is permitted (to

sin for the sake of others) even when he transgresses the 7wy mxn (of om o»ws
1712VN) —

mooIn proves that for certain M¥» we say 771°20 7P 2°2W1 ROT:
— (ONX NN M7 OV R, 97 0NEs) VNV T8 VU9 1)299NTD

As the X713 states in the beginning of wrw: 7920 pPIo -
— ©%29¥0 12 YV PHRN INNX 29YNNY 927 7Y PN

There is nothing that is left to be performed after the offering of the afternoon
TR0 -

— D'NDD *29y1 * 9195 10INNIY NDDY M NIYP NOHN
Only the n2vp and n92 (of 2277 1°2) and the 1o 3399 (always), and the 7277 of

a 27192 VIR on 1O 1Y (which was not brought before the 0>27v7 12 5w 1°1nn) -
— mpmownT avy N N9 91 WY NDaT HYY INNT DIVN 0NN YYD

And the X713 explains there the reason because we say the nwy nmxn of nos,

which is punishable by n=5, comes and pushes aside the ¥"» of m»bws. This

concludes the citation of the X713 there. N190IN continues with his proof -
— N MYM D9 HDINM DPIY 273 NNTYNT NYIN )N 92¥P NN

It is evident from there that the 37> (who offers the 1277 after the 7°nn)
transgresses the ¥"» of 7%w:7 in order that the 297195 2972 should be 2»p2 the

TOD 1272 MM (because it is N1 712 Ww ¥"M). Here too the 17X will transgress the 7wy of 27w
1712¥N 0773) to enable the T2y to be a»pn the 7271 M¥n of (") Naw.

In summation; There is a rule that 7727 757w 2°2W2 XL QTR? DM PR, nevertheless by a mxn
727 like 2w or n73 72 ww ¥"» (like nod) we do say 131 X, and require the NIX to be 7Mwn and
the 175 to do the nmay after the 7nn. We also say % 110°R Xvur (even) not by a 727 mxn if the
intended XvIn7 is the one who is causing a possible 711 M0°X (by the 7"v1 72nm).

' A o195 "o is for instance a a1 or a ¥M¥n who finished all necessary steps to become 7%7v; however they did
not bring their required N2 which will allow them to enter the p"»i1°2 and eat 2>w7p. If they did not bring them on
nod 27y before the 027y P2 YW 710, they would not be permitted to eat from the noo j27p (which is w7p),
therefore we permit them to bring the 127p after the 7°nn (even though this is transgressing a ¥"»), in order that they
should eat the 109 at night.

15 The 770 writes (in »,0 [Tn%¥72] 12712) regarding the mod 1297 that 77311 MODT MWY? 27M "3 WOR.

' The prohibition of offering any 127p after the 720 is derived from the P09 (in 73,7 [X] X7") which states 0P
nowa *abmn 7oy, that 0913 N3P 9o 0w 79y, Therefore this qwy is called anowaT Iwy.
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mooIn asks (why does w"a claim that 127 1R AmOw XW™):
— 992y 72y 178Y 912127 12912 INNIAN IINH ON)

And if you will say; why do we force the 117X to be 77nwn the 72y, for let the 72V

sell himself as an ¥"'Y to someone and this master will give him a n°1w1> 7now and he will be

117 95 naw o»pn (without any transgression). This question is valid -
— 5330 ANOY 19 01 139 1YY NN 999 (0w 3,1 97 PYITPT NP P92 9INT INNDY

According to the one who maintains that one who sells himself for an ¥"v, his
master may deliver a noyi> anow to him -

— Pap39 NNOY 19 701 129 233 9 PR ITXANT 3133 VINT JN1IY)
And this question is valid (only) if we also agree with the one who maintains that
even if the ¥"v does not have [a wife] and children prior, nevertheless his master
delivers to him a nuwis MOW. Why do w"3 say (unequivocally) 9127 1K row xwH?1%°

Mmoo anticipates (and rejects) a possible solution to this question:
— My Yapnw 2% NN A1) 293y T2y PPNT 2) JY 9N

And even though the rules of ¥"¥ do not apply only in the times when the %21

is observed -

— (0WIN,00 97 PPYITPI 9IIND P992 1)299NRTI
As the X713 states in 92IN7T P99 in @7 NO0A, and presumably in the times of w"a (in
the 1 n°2) there was no 927, so there is no ¥"y 1°7 -

mooIN rejects this concept:
— (%2 DNNND T XY 97 L) NTIVNIA O 19239 U973 Y299 AN 1Y N3 XN
For 921> was observed during 12 nv2 as the n''1 explained in w7 p9o -
— 991199 199 Y91 22)
Regarding what the X3 tells us that %9:7 enacted the 9131195, The question remains
since ¥"V is w"2 112 23, why does not he sell himself as an ¥"¥ and be n°1v15> anowa nmn; why
are we 127 DX 19137?!

N1B0IN answers:
— 593y 7au3 18y 99905 NORT NIPN NT PRT PHYS 13539 9N

' There is a dispute there whether n1y13 775w 1 707 127 only when 7">2 y1127 (for stealing, etc.) or even by 92m
1%y (the view of A1yR ).

'8 The n"2n ninan amends this to read, 127 TwRY 0°12.

1 See 7R "7 K,% 77N 2w that according to °27, even if 0°121 TWR 12 PR, nevertheless N*1w1d Anow 17 101 120.

0 See previous Xw*> 7"7 '0In that if he could marry a fnow and be 177 %3 naw o»pn, we would not be 127 NX 7913 to
free the 72v.

I See X, 197 that we derive it from the 109 (in 2,75 [172] X77°1) which states Tay 72v° 277 naw 7v.

> We can coerce the master to be 99rwn the 72y (even though he is 7279 on a ¥"»), because through the 11nw the 72y
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And the »''9 stated; that this is not helpful, for it is forbidden to sell oneself for
an "y -

= 412909 D272y INIYH 93259 3 990 91 Y NYNYY NN (3,35 91 PYITRT NP 992 199INT
As the X3 states™ in the first p=5 of PRwITD noon; ‘the ear that heard >'"12 %%

2372y by Mount Sinai’, etc.

In summation; there is no option of the 72y *¥r1 selling himself as an ¥"y, because it is forbidden
to do so.

nooIn asks:
— 1IN N2 NN NNAY NINN XYM 9IRN ON)

And if you will say; and let him marry a 197 n3 77°3m 5w 7937 and have
children with her -
— Bpwurrn N9a NINYS YN DUNR 182 WHRnUN) MTY 18 SNRT DYDY 9199 1IRT 57

And granted that he cannot be wp» her (as a legal wife), for then his n17ay 7x
will come and be w»nwn in the R'"X 7% (of the 7rdW), but [nevertheless] he can
marry the 715w without P217P; they should be together mara —

mooIn proves that there is this option of marrying nM1r3, regarding the 72y >xm:
—349Y 1995 N9 ANAWA 9,0 NN INT YNRUN S9N NNV KWWY 1INTD

As w"1 say he cannot marry a anew (because he is a 17 12 °X¥17); indicating that
if he would be permitted to be with a nnow, we would not [have] coerced his

master -
— PYITH K92 ARYI N3N DIPN Y91 T ANava PO PYITH PPNT 23 YY 9N

will be °"5 0»pn; however the 72y cannot sell himself as an ¥"¥ (which is forbidden) because even if he becomes an
¥"y and has children from the n"1y1> 7row he will still not be 7" o»pn (and n2w). [Alternately, the NTR transgresses
his W% only once (when he frees him), however the 72V is continually transgressing the Mo°X of a°7ay *"121 > »3 (for
not redeeming himself).] However if it were permitted for him to sell himself for an ¥"y, then even though he will
only be 1717 25 naw o*pn, that would be sufficient not to be 121 11913 (see footnote # 20).

> This is regarding why the 72y is ¥¥11 on his ear. It was the ear that heard 2>72v *"12 % *> and nevertheless he
acquired another 17X, therefore the ear is yx71. It is evident that selling one’s self as an 72v is not proper.

* The n"a7 Mt amends this to read, MXY® PR 231 WX.

* In this question Moo assumes that if the 17117 712 %M 72¥ °¥17 will be w7pn the 1 N2 “xm Andw "X then the N1 ¥
171 will be become an X NWX to the 1717 12 °¥n. The 72v *¥n1 will then be 710K on the 1717 N2 *¥n who is an X"X.
However if he is not w7pn her and they are together nira we will assume that there is no Mo°X of WP 77> X7 or X7
7wTpR 7700 since both of them are 17 12 ¥m 72Y "¥17 (presumably similar to 7775 which N19010 mentions shortly).

2 The n"a7 MmaT amends this to read, 1103 M7 K.

7 "3 say he cannot marry a 9w because he is a 1M1 12 °¥m; however, it is never possible to marry a oW since X
newa 109N TUNTP. We must therefore say that w'"a did not mean to marry the answ with Pw17R but rather with nr;
however since he is a 177 12 °¥17 he is not permitted to marry her n1172. Now, however that she is also a P D2 7°x¥n
let each >¥n of the 72y join with the corresponding ;1°%1 of the 7mow and there will be no MoK of WP 1N K? or XY
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Even though that pw17p is ineffective by a mnew, nevertheless he could marry

her without 1°217p. The question remains since he can have children with the 7¥m anow 730
0 N3, why are we 127 DX 1912?%

nv0IN answers:
— 1m0 183 UHRNWN MTAY 18 SN 393 KIYAT Y YN

And one can say; that now also (even if it is M2 without 7"¥17p2) the n72w 7% (of

both of them) is wnanw? in the N9 X (of both of them). Therefore the P11 N1 1 12
are living mara with a 72y anow respectively.®

mooIn anticipates a difficulty:
— 21350 1199Y PY91T (owr x,09 97 PN 32 DRI IMN P93 NINT 1799Y T X9

And this case is not like the case of a 1799, concerning which 777> " ruled in

112 NRY IR P2, that we may mate it with its kind (with a 779) -
— 201D 182 YWHANYMY 1NN T SINT N N9

And we do not say that the =1 7% of the 775 comes and is w»nwn» with the 73

010 of the 77779, but rather (presumably) that each 7¥ of the 77791 779 respectively are wnnwn» with
the corresponding part of its mate. Why here by the 7row1 72¥ do we not assume the same?!

mooIn responds, that the case are not comparable:
— EmwrInT 90N MUT NIIIT D% IV ¥awnT F1ns 0INYs onne

For there the 710 writes 289>, which indicates two species, similar to the

forbidden plowing of =121 91w, that is where the prohibition applies -
— 7 mshy 21999 45 Nt 0L P8y 2393 1NN 119 1199

wIpR .

2 1t is not clear if Mo assumes that in this case he will be 1" ©»pn or perhaps only 177 93 2w, but in any event
(even if it is 1777 95 n2w) we should not be 127 NX 71913, See footnote # 30.

¥ They both transgress the respective 2> 10X of 7wWTP 7°AN X2 and WIp 7777 XY,

%0 1t is preferable that the 117X should transgress the ¥"» so that the 72y can be 0p» a proper 1™» than they should
transgress the 0°190°R and at most be 0>pn only 17 23 naw (see footnote # 28) and the IMdW %1 is not (even) ANM¥A in
q"o. [Alternately ([even] if we assume that he is 71" 0»pn) see footnote # 22, in the bracketed portion.]

' A 71779 is a mule; the offspring of a donkey and a horse.

32 There is a prohibition of mating animals of different species as the 109 states (v°,0° [2°w17p] X7p™) that R? Jnnna
0°X?> ¥°21n. Therefore we may not mate this 7719 even with a horse or a donkey, but only with a 775 who is also the
offspring of a horse and a donkey.

31990 in the question assumes that a (;7)779 is a composite of a 7%m 010 and nevertheless they are 121 JnM.

* See footnote # 32.

3 The P10 states (°,23 [X¥n] 2*127) that 177 A M2 WIAN K.

3 The n"a7 Mmam amends this to read, DYYAY KT XY,

7 1t is forbidden to ride (for instance) on a wagon that is drawn by two species (a 7mm 2W); however it is permitted
to ride on a 7779 (see 27,X 'X 0*371) because it is not a composite of two species but it is its own species. However by
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However a 17770 is a species onto itself (so there is no o°xX92), and it is for this
reason that it is permitted to ride on a 77>.

In summation; There is no option of the 72y >¥1 marrying a "7 N2 XM 09w 73°¥1 [even NMara],
because the M72y 7¥ is M7 782 wHANWA.

mooIn asks:
— 191192 AN MTAY 181 Enatnn XY 9NN oN)

And if you will say; and let the 72y °Xr marry a n9ta» for the myTay 72 is

permitted for a naan -
— Panaw XY N 1853 91059 199199 19193 (00 91 PYITP IMINN 1INTI

As we learnt in a mw» in 9%IR7 P9 in P¥YTP N0 that 11970 ' said, “3"91a» can
purify themselves (so their children will not be 2°717); how is this; a ara» will

marry a andpw’, etc. It is evident that a 71 may marry a andw, and so too an 72y may marry a
namn -
— (x,00 97 0V) PPOUNI NIYY P99 1INTI 99 ) 7N NI

And the nn 72 of the 72V is also 9N in a N7, as we learnt in a mIw» in P

oM TIRY, that -
— %0n1a At X2Y 19990 01NN DN

2v11n and freed slaves are permitted to intermarry with each other.*!

N1IBOIN answers:
— DNV 029191 MAIND NIPN NT PRT PN 13929 99IN)

And the >'"'1 explains that this is not beneficial to increase 2°91» among the

" 12, It is therefore preferable to be 1271 nNX 77910 (even though he is transgressing a ¥"n), than to
increase 0N in PRI 992.

In summation: Even though he may be permitted to a 7mn, but this option is out!

7nowY 72Y they are a combination of 72y and P 12, therefore each 7X is wnanwn with the opposite 7X as well.

38 This Xw> means with mar, for if he is w7pn her she will be an X"X because of his M1 7%, and the M72ay 7% will be
prohibited to be with her.

** The child of this union will be an (n)°aw1> anow/7ay. If the children are emancipated they are P91 *12 and not
jakinlivalaR

40" An " mwn 72y is like a 73 (he too was first a M3 and became a »x"). Concerning a 1n the 770 writes ( 2127
3,30 [R¥n]) that 71 9apa Jmmn 82 RS, and the 77p of 073 (and therefore o> MW 0°7av) is not considered 71 7ap.
[Therefore wherever the 10K is 71 %apa X2 &2 (for instance 21 "aRmM "1Y) they are permitted to intermarry with
o°3 (and o1mwn o°7aY)].

! The 0 12 PR 72y 1% is therefore nAmna AN from both his components. Let him marry her and be 7"19 o»pn
(even though the children will be a>717) and we should not be 127 nX 77912.
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nooINn asks:
— (ow) PONY NIYY PIT PNTI NTA DT RAY PN 5919 S19NT 13913 XYW HINN ON)

And if you will say; and let him marry a f°n1, for 2°°n1 and freed 2°1v15 072V
are permitted to intermarry one with the other as the mw» teaches in P99
PO AW -
— N2°5H12 959 9 MTay 1Y)
And the n172y 7% is also permitted in a ;7239033 nwoin will prove this -
— *y19939 NIIN INIYIY NN NN (3,70 47 mm3) PN YO W2 MINT
For X701 27 states in the beginning of many ws P75, there is a difference
between them in the case of a n91%» or N1 -
— %9y 7939 [NYN] NP N99Y 239N IINT JNIY
According to the one who maintains (that she receives a 72112 [by 711712 M0X])
because he entices her; however here (by >X7°% 12°n1) naman) she entices him
(and therefore she does not receive her 7121n3). She is 7°% 7193 for there is no concern regarding

the children (even though they are o>t or °1°n3) -
— NNOYW RYIY 132 51> T 1991 9PUINY D19 vIT*9

Meaning that it is possible to purify his children, through his son (the 1°n1) who

will marry a 7w, and his descendants when they will be freed will be o™w>. It is
seemingly evident that a 1"n1 may marry a nnow. The question then is that the 72y X171 should
marry a 71°n1 for both his M7°17 7% and M72Y 7¥ are 71°N12 INN!

N1B0IN answers:
— NNOYA 1PN NON OAYYT 95 Y

And one can say that a 1°n1 (or 721°n3) is forbidden to a 7m5W (or to an 72v), therefore

the m7ay 7 (of the 171 72 °X¥17) cannot marry a 73°n3, but -
— 90N 21 HY 199N 9PVWINY D199 1193 1Y DI DD Yan

Nevertheless (when a 721°n1 marries a 870> she does not receive a 72°n2 for) she is

2 The o'rn1 are the descendants of the 2°1wax (from the NMX ¥aw concerning whom [according to '0WnA Nuw] the
77N writes [(3,7] (JAnnRY) 2°127 that 02 10Ann X2), who converted in the days of Yy under false pretenses.

> The rule is if a 172 marries a w173, she receives a 72102 (if he dies or divorces her), if however someone married a
7w (which is an 112771 MY MOX) she receives no 721N2. One explanation is that 7175 M0°K is XN»7X7M and needs
no P1°m; however NP1 OX is 132771 and requires P1r°n. However T1¥9R 12 199w " explains it differently; we assume
that generally a woman entices a man to marry her (1N 712231 ®*7). Therefore by 71w >Mo°X since she enticed him
for this M10°X, she loses her 1210; however by 711172 *110°X, we assume that she did not entice him (for their children
would be 0°%%n, and that may reflect negatively on their marriage), therefore we assume that he enticed her, and
therefore she receives the 72102.

* The difference whether the reason is because of XN™1XT or INX 2°3% X7 is in a case where a 73N NTA» marry a
587w (which is an Xn>»7X%7 Mo°R) and therefore according to the 7" of Xn»71X7 she receives a 721N2.

* See footnote # 43. Generally a woman is 72°3 7 except where there will be a 9109 in the children; however by
SR 71700 pAran where the 9109 can be rectified (as N9 states), we assume that 7°% 79377 X7,
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7% m9aan, for it is possible to be 99won their offspring (by marrying a nnow)

albeit through an 919N -
— 113993 N DN 220 NNT DN 1Y NN XY N93) INNY

Since this person who is marrying the 711°n1 is not concerned about transgressing

an Mo°K for he married a n9t» or a °n3, therefore the woman is 7% X237n for she
knows that for his standards she can be 7°wn their children through an M0°X (with a 7n5w) and
her husband will not mind.

In summation; a P77 12 °XM 72Y "¥1 cannot marry a 111°n1 for even though the M7 m 7% is NN
73°n13, the N172Y 7¥ is 173°N12 T0OK.

nooIn asks:
— 9599 911912 HNAYI )P0 TIUNT NIV NI 9INRN ON)

And if you will say; and why is there this difference that a y°n1 is forbidden to

marry a anew (as Moo just stated) and a AR is NI in a AMOW -
— 703 10000 &Y 25057 911 1195 507 9091 M1 103 1PN KN

For a 1°n1 is also from those that are unfit to marry into the community of Jews,

Just like a =tan, for regarding a N1 it is written, ‘do not intermarry with them’,
so why is a 71 different from a “1n regarding a anow?!

N1B0IN answers:
— ®purtp >09n KT 99090 NOIRN T9IY 295 T YD 10T DIV 0N 13939 N

And the n"9 explained that a =% is inherently a w7p (in the sense of mar),
since he was born from a union which transgressed a severe 910°R, in which

PRITRP cannot take effect -

— WP 1513 K97 INYA 7059 XY P79
And therefore he is not forbidden by the prohibition of w7 1979 X%, since he is
already a w7p by birth; however a 1°n1 who is not born from such a union (and is not 72 ¥7pR),
he is affected by the W% of w7p 7°7° &%, which prohibits him from marrying a nnsw.

mooIn qualifies this statement (regarding w7 7°7° X2 and 0 1an):
— Y9919 PPN NN 91912 1N

63,1 (NNRY) 01T

7 npoIn assumes that the reason a 7mn is AMOWA M (and is not prohibited because of w7p 17> R?) is because the
MoK of WP 777 RY applies only to those who are %7722 21N and not to a man who is 277p2 X127 oK. Therefore nvoIN
asks that since a °n1 is also 27772 MoK, he should be permitted to a ndw.

48 By definition a 717 is one who is born from a relationship where 1w 7°p 19010 1R (like mn»> 21 [according to
the accepted ruling])

4 Not as we assumed in footnote # 47.
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However we do not permit a 71 to be with a 927 or a 7272 (even passively) -
— S ytp 1979 K9 (3,7 97 prrmpy NI 71 D93 7Y PI9NT INNY 199N

Even according to the one who derives in nins» ' 299 [the prohibition of these

passive relationships with a 727 or a 7712] from the P10 of w7P 7°77° XY -
— N2 NY 119129 9197 MYITH1) 131919 N2 NINVY JNINA NIN MIYITPa 101D PNRY

for we cannot permit the -1n in all prohibitions of nw>7p; only in those
relationships which are similar to those from which he comes from (a union
between a man and a woman). However, since he is not born from ny2s7p» of 2127
and 77772 he is not exempt from those NWw>Tp prohibitions.

In summation; a 7t» is IOW2A NN, for since he is 7 WP the prohibition of w1p 777 XY does
not apply (but he is 17221 71272 70OK).

ndOIN asks:
— anawa 0YON) 2A29132 095 YNNI 2997 NIY INDY 9NN ON)

And if you will say; and why is there this difference that 2>93 and freed 272V

are permitted to a ;7°n1, but they are forbidden to a oW -
— SING 92950 1719999177 22 5Y 9N)

And even though that both 71°n1 and 75w are 17I8? 521!

N1B0IN answers:
— HAP 99109 INYM 1329193 CPUITD 103 S0ONT 51T PNY 13939 IIN)

And the "9 explained that regarding 2%1°n1 where P27 are 372 ©910, we derive

>1°n1 from the other »71p 9105, which are -
— 915 »9PR N1 0293 YNPA 1PANMNT MR 2980 SANI 1IN0 1D

For instance s217XY 5937 %282 "1y, who are permitted to intermarry with the
community of 273, since 0°73 971p is not considered 71 9P -
1111999 NOY> XY PWITP N3 Y091 NYT "INV YaN

*% The 77 clearly prohibits an active relationship with a 737 or a 772 (30,23, [*1X] X1p™); however regarding a
passive relationship, this is derived, according to P8vynw» " from WP 770 R,

>! Seemingly since Moo just stated that a 7 who is 72191 wTp is not included in the prohibition of wp > X9,
therefore (according to P&ynw> ") he should not be prohibited from a 7721 7157 (passively). MoOIN rejects this notion.
>2 This is stated in a mwn cited previously in this Moo (see MdOIN by footnote # 42).

>3 "3 say that this 17 72 *¥7 cannot marry a AndW.

> By a nn1 there is the WY of 02 10nNN XY and by 7now the WY of WP 771 891 They should both be permitted to
both or both be forbidden to both.

> pw7p are (generally) 0910 by all TIRY *27n.

% See footnote # 40 that 171 are like 2™ 3.
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However regarding a nmew that 7712 190210 PRY7TR IR, we cannot derive it from
them (the "1y, etc.) and therefore >N *171 are 7OW2 MOK.

In summation; 0°73 and 2°77MWn 0’72y are 71°N12 NN because WP 172 °05N, however they are
75W32 70K because PWITR 172 00N K.

SUMMARY

mooin first explains why the rule of n"%7¥ cannot allow the 72 *¥1 marry a P N2.
Moo continues to explain why the rule of 77°21 751w 75 RV QTRY D™ MR PR does
not apply to the NIX (and other cases). MdOIN explains why this 7Y °X17 cannot be
1"9 o”pn by, a. selling himself as an ¥"y, b. marrying a 170 N2 "X Anow X, c.
marrying a N7mn or d. a A1rnil. MdoIN concludes with the laws concerning the
intermarriage between 0°7171 ,0°1°N1 ,0°77MWH 0°72Y and MNBWY.

THINKING IT OVER

1. mooin states that we cannot apply n"27v here since the mwy 01°p is 7X°2 732 and
the n"7 is Ax w2’ It would seem that if the n"™> would be %2 732 then n">7y
would apply. Seemingly however, he is 7"15 2pn only when he has a son and
daughter, at the time of 7X°2 773 there is not even one child born then (let alone
two); how is 11X°2 773 considered Awy: orp?

2. mpoin states that we do not allow him to marry a 717 D2 even though M7 Wy
awyn XY, for since we can force the master to free them it is om1w o»ph “wor.”
How can we say it is 7w 0»p? TWoR, since it is only possible by causing the
master to transgress a 2 of 1712yn o2 owH?!®

3. Why is it that by n">7¥ it needs to be X17°¥2; however when we are M7 the nwy
of Y11vn 072 oYWy for a ma1 MEn of 1"9:°! it need not be X17°y2721%2

57 See footnote # 3.

38 See 21 MX 7"o0.

% See footnote # 9.

50 See n"n1 and 1 MR 7"O10.

°' He is 7nnwn the 729 (even) before (the nxv).
62 See 20 NIX 7"20.
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